BASxXU TR [RF]

IR K& &S| FLA 3P ;ﬁ; EI'Fé'r PT [ 3P ;ﬁngl'fr PT 3? ;ﬁfpﬁs; PT
1 XE XE 8 |BEKE 2| 4 3] 171 2| 71 5| 25 4 11 8| 42
2 HE HIH 23 |PeekaBoo 2 4 13 5| 31 of 15| 5| 35
3 AE E 4 |BEKZE 4 1 14| 3| 4 171 71 5/ o] 31
4 g th&E 8 |HJ 13 4] 30 0 0| 13 4 30
5 LR Z3XE 12 |[BEKE 3] 3 15| 4 1 14 71 4 0| 29
6 mAR 505 15 |Crepass 7 1 23 0 7 1 0| 23
7 FA fBx 12 |HJ 8 3 19 0 0 8 3 19
8 HIE EX 1 [HJY 4 3 18 0 4 3 0| 18
8 BT 5 |HJ 2 6 18 0 2 6 0| 18
8 El BE 19 [Crepass 4 3 18 0 4 3 ol 18
11 ALE M 9 [PeekaBoo 1 1 51 2| 2| 2| 12| 3 3 2| 17
11 *H BR 39 [PeekaBoo 0 3 4 17 3 4 o] 17
13 Fig HER 16 |PeekaBoo 2 4 2 3 12| 2| 5/ of 16
14 T = 9 [HJY 7 14 of o 7| o 14
14 flll EX 35 [Crepass 7 14 0 0 7 0| 14
16 fHE #3% 12 |Crepass 3 2 13 0 3 2 o] 13
17 =5 X 1 [BERXE 1 2 5 100 of 6 o 12
18 FRE % 9 |EEKZE 4 8 1 2l o 5 o 10
19 AR X 7 |HJ 1 3 9 0 1 3 0 9
19 HZT AR 33 |PeekaBoo 1 2 3 71 o 4 1 9
21 5H FiLA 3 |[Crepass 4 8 0 0 4 0 8
21 IR R 17 |[Crepass 3 2 8 0 0 3 2 8
23 HIE RF 9 [Crepass 1 2 7 0 1 2 0 7
23 Pk —=% 11 |PeekaBoo 1 2 7 0 1 2 0 7
25 FH 1% 16 [Crepass 3 6 0 0 3 0 6
26 M EFX 90 |PeekaBoo 1 1 5 0 1 1 0 5
27 M ZF 78 [HJ 2 4 0 0 2 0 4
28 B E1E 15 |HJ 1 2 0 0 1 0 2
28 INE FEF 10 |Crepass 1 2 o0 o0 1 o 2
28 XH BT 14 |PeekaBoo 1 2 0 0 1 0 2




